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This is a source; - 2OXY277 IR ROZUTY KON 1R T2 4RI 29R 95 1ax 713 7%
everywhere where Seh is written, it is only to exclude a mixed breed

Overview

The &3 cited %27 who said that we derive from (this word) 7w, that wherever the
word 1w is written, it is only in order to exclude 2°&%5. However the X723 does not
state from which (word) fw, did X217 derive his ruling. There is a dispute between
"1 and '01n as to which word (7w) we are referring to.

= AN 1232 YT 20903972 Y9 (0w 3,ny 97 prn) 133 NN IMN 9992

>"'w9 explained in 113 NRY IR P99, that X271 made this 28 912 -
= DY NYI DAY NV NV 299570

Since it is written 2% 7wy 2°92ws 7w "W —

nooIN asks on °"'wAo:
= N29T INDN S9TWIUN 22997 9N “9IPhT PN 139390 NYP)

And the 5''9 has a difficulty with >"w19, for later the X771 states, ‘that according

to X''1 the 2X 7712 of X2 comes to teach -
- YWINS 5295 NYT NNOD 112 199258 NNON 11 1999 NvY

Regarding a non-kosher animal which was born from a kosher mother, but was
impregnated from a non-kosher father that it may not be eaten; and this is not like
LR

- R29T AR 1325 T8 KDY 1193 NP DY NYUM DXV UM YWING 9393 INT
For according to >''9, he derives it (121 M707 11 771w RPvY) from 7w 29was oW
2%1y’; meaning that " does not require the 2R 1912 of X29. However according to *"w" -

= N297 AN 1222 »N NP R¥NNN NAYINY

On the contrary, the 2R 12 of X239 is from that 229 of oty 7wy o°wad 7w, so how can
the X3 write 121 YW "2 X927 when X271 also derives if from "\ 022 nw according to >"w2?!

U A 2% 712 (or X 112) is when the 770 gives a ruling in one instance; we can derive from this ruling that it applies in
other cases as well. This type of derivation is called a 2x 112.
23X 7"72 where >"wn writes, W TV AW Mpn X7 710 Yynw 00TV 02w 7w 2°N2 K9, 00TV WY 202w [wn 1191 13’95’7
W I RY IV TR QWD TR DAR 00TV 01w IR WA 1KY PIAR.
39,7 (7%1) ©127.We derive that just as the 7w here means a non-0°%23 animal (see footnote # 2), the same applies
elsewhere wherever the word 7 is used that it excludes o°R?5.
4X"yo,ny.
5 X" maintains that one can be 7715 a M1 WD with an animal which is 2°%23 (seemingly contradicting the ruling of
X2 that wherever the 7710 writes nw [as it does regarding 2n qud 11°79] it excludes o°x3).
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nooin offers his explanation as to the aX 112 of ¥27:
= HDOT NYN N NIIT AN 12327 PNYY 139299 AN

And it appears to the >'' that the 2R 12 of X239 is from the word 7w, which is

written by the 12 1277 -
= 8055 151 NIV 12 997 DN 7NY (¢ mnw) 2INIT

Where it is states, ‘you should have for yourselves a male, unblemished,
yearling 2’ —

mooIN proves his point:
= 9915 119 PPN INT NN MNIN TV PIYD RAIT 9NN 25 1PN NAT YN

You know that this is so, for we conclude that the ruling of 829 (to exclude o°x72)
was taught regarding a first born donkey, as the 11w» states, ‘one may not

redeem a M1 WO, ete. neither with a calf, etc. nor with a°x»2’. -
- DT 90w NUNR MY PI9N (Dw N, 1) INIIT RPP PID 9I03)

And in the end of the first Pap of n1™122 noon, the X713 derives these restrictions
on 7111 Twd 1170 through a Mw 77°13 of 7w 2 from the Mo 1277 -

mooin asks question # 1:
= Y N9 N 2P 1119239 AN 1232 119D 99D NONT NIY INMII 9NN ON)

And if you will say; and why is there this difference that here the X713 refers to
the derivation of 7117 705 from 105 as a aR °13, and in NY9122 NOo»n we find that 32

32 32 calls this very same derivation a @'t -
— NV 1919 9N DY IR ININI VNPT

For he states there, ‘here (by 7117 qu9) it says 7w, and there (by 109) it also says
7w'; this language is reserved for a w"13, but not for a IR P12 —

An additional question # 2:
= NVINYI NIV NN DHIYN 29V DINDD NI VPIT NIV INI 1IN

And furthermore why is there this difference that X329 only mentions the

677 p10D.
" This word nw is superfluous, for the word 7w was mentioned previously (7,3 2°P109); it was not necessary to repeat it.
8 This nw is for the 1o 127p, and 0°X3 are unfit for any 127p, as the X3 states shortly. Therefore this (extra word) 7w
is a AR 1°12 that wherever 7w is stated, it excludes 2°R3.
O R, M.
10 The word 1w is written by the 5"p (see 17,2> N12w) and by also by 17 70D 11770 (see »,3 MAW) 7w 770N.
T The %3 here states that the aX 1°12 of 821 teaches us that 2°X%3 is unfit for 711 05 1175 (however we do not know
what is the source of this 2R 1P12). The X713 in N17102 teaches that the reason 2’892, etc. are unfit for 27 WD 177D is
because we derive it through the nw mw w"1 from nod 127 (where 0°X?2, etc. are invalid for the nod 12p). It is now
evident that the source of the 2X 12 is the (extra word) 7w written by the 5"p.
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exclusion of @a"8%3, rather than the exclusion of a calf, an undomesticated animal,

a diseased or slaughtered animal that they too cannot be used for am 7w 11779 -
= HDOT YN MNIN 909 P19 PNT )9 P 9N DY

For the exclusion of all these from 9121 91w5 1372 is derived from 77w of nop 290 -
- 957 2amwn YaY 049 )9NY AP ONN NINPT

For 32 32 72 states there in M7122, just like there (by 5"p) all these categories are

excluded, the same applies to M1 WD 11779, So why does 827 mention only one (2°X73), and not
the rest —

Another question # 3:
- 1335515 MW OINDD 99999 NN 95 29N AW NIV 599 NY ININ T

And additionally, why did not the X3 ask on the Xn»92 regarding the 211 of '7
'M by a 1937, ‘but 7w is written’, just like the X7n3 asked regarding the 'm '7 210
by 2°8%3, ‘but 7w is written’!

Question # 4.
= 1195901 NVINYA Y9Y NI INNAN 999N T09 DINDIL MTAY 9YT NYIHN 22957 N

And also according to X''= who permits redeeming a =121 2 with a°8%>, why is

it not permitted to redeem it with a 7w or a 79w -
- 159n90WAa 1999 1999IRT 199919 1999 NPVY AN 1932 1Y SPINT

Since he utilizes the 2& 1°12 for a X»wv animal which was born, etc. as we say later
in the X923 —

Final question # 5:
- NNOYN ONHPY NIIT AN 1932 MMYION 2295 110PY *¥a 23 M

And in addition, when the X923 later asks according to R''™ (who permits to be

7719 a AN vd with 2°kY2), ‘what laws does the aR 3°12 of X2 teach us’ -
= 1P1TI9 PPNT NHN 229NN YVIVNY N1*Y

The X773 could have answered that the 2X 1712 of 827 comes to exclude the others
(7w and 719°70) that we cannot redeem a 2 2wd with a VMW or a 197V —

12 These include; o°X?5 ,70WW 7970 170,950,
13 The xn>72 (on this T1Y) stated that there is a 'm '7 211 for 0°X?2 and 119>, The X723 asked (based on the ruling of
X2 that 2°X?277 DR R*¥1772 131 2K 1722 771), how can there be '™ '7 by 0°%?5 when the 7710 writes 72! The same question
should have been asked regarding 715°70; how can there be M "7 by 119> when the 770 writes 7w. According to '01n
we know that 7w of noo excludes o°X?3, but it excludes 77970 as well, so why ask on one but not on the other?!
14 See (text by) footnote # 5.
15 x,nv. Since X" allows 7m0 qwd 11770 with 2°%23 because he does not utilize the 2x 1°32 for 9% W, so why is it not
permitted to be 77 with a TINY or a 79"V, since there is no aX 112 to exclude them.
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Moo anticipates and rejects a possible answer to some of the questions:
= 1651519 D3y 195 NP NYT NOMYNYNN HVINYI NOYIVT NN *D)

And if you will say that the very meaning of the word 2 excludes a ;712> and a

U, just as it excludes a calf and a non-domesticated animal, so we do not require
the 2K 112 of X217 to exclude the 7390 VAW —

moo1n replies, that this is not so -
= 99 999 VINY 1PPAN 997 (0w 3,01 97 x0p) I INININ PID2 9N NN

For the X713 states in Y7 18237 P95, regarding the word =9 (by the 772y of 7193 o)

that even a slaughtered 12 is called a 9» -
= 7w4e 15001 AYN NNN 29157 IND IN NDST NY 19)

And the X3 implies there that similarly regarding the 72 of the o2 1277 that even
a vINY 7w would be considered a 7w, if not for the fact that it is written 7w Dy,

which is expounded to mean, when the 7w is still alive. Therefore all the questions
remain.

n190IN answers:
= 18891 NNDM RTN IND 171191937 NIY N9 29T AN 1237 PNYY 13939 NI

And it is the view of the >''9 that the 2R 312 of 829, and the @''t3 in n19122 NHon

are not one and the same -
= NHVAT NYN P9 1NN INTT

For even though both (the aX 7712 and the w"12) certainly derive their respective

Mwa7 from the 7w of 79D 1277, nevertheless there is a difference -
=INPN 0PN 119 YD2aYWST NN PN NITT AN 12329

For the 2R 7712 of X231 is derived from the superfluousness of 231y 312y 2%wasn %
PN -

= NPO) DYVTP INUNT THIVNN KD 199971 209WA0 11IN) YA AN NIOY 1Y ynung
Which these words 31 2°w2277 1 indicate that the 7w is not fit for a 1277 unless his
father and mother are both sheep; however it is not necessary to teach this to us

regarding this case of 5"p, for we can derive it from the rest of the 2>w7p -
= ©INDAY V99 Y IN AVWI IN NV TINDA NINT

16 It would answer questions # 2,4, and 5. Question 2 is answered for there is no need to exclude 79 TV, since
they are excluded nw7 m"mynwnn, and the same for #4 & 5.
17'We see that the word nw (without the w» n1’1n) would not exclude (even) a munw, and certainly not a 79°70.
18 The gist of NMoOIN answer is that there are two 2°7?; there is the 2R 1712 of X217, which excludes only 2°%3, and
there is the w"1x which excludes 79701 mvnw (but not 2°X?3). This answers all the five questions.
19 The 109 in 7,2° (X2) MW reads, PR O7¥7 791 W27 10 02 M7 7Y 12 127 000 AY.
20 o207 1 means from the sheep exclusively and 2°1977 179 means from the goats exclusively (see footnote # 2).
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As the Xns»2 states shortly that the p105 of ¥ IR 3w> R "W comes to exclude

QIRYD, that they are unfit for a 1277, so why repeat it again by the 2"p -
= DINDD NININY NIN 1IN NV 99NV DIPN Y97 INN NNYYA 191959 NON

Rather it is in order to derive elsewhere that wherever 72 is written, it is only

for the purpose of excluding 2°8%> -
= DONDD 1920¥191 NN KD NY NAVWT NIY N99TH AN 1292 IND IN)

And if not for this 28 3712 of X271, we would not have excluded 2°8%2 (by 1vd 1179

") based on the w''ta of oW W -
- 71259 20791 119N NPHRN MNT OIVYN

Because we would have said that the duplicity of 7750 71790 is inclusive, to include

even 2’93 for " WD PO -
= 1259 D795 DTN DIVN NIV NI NIV 12 D95 997 1NV 2onn 10YNN N9 9991 95

Just as we do not exclude a 7w which is not a male, nor whole, nor a yearling,
from being able to redeem the 71 0o, through the w''ta of 7w 7w, because 775N
77EN s a Mavn —

Mmoo explains the difference why we do not exclude °%5 from the w"1 (as opposed to 719> TNY):
= [220W 9P 993 1IRT] DINDIN 29V NYT MY NN NI LYNY NIN NIADH

And it is logical to exclude all the others based on the 7w 7w w''ts, more than

excluding 289> [since the 7w of o°KkY3 is also called a mw] -
- 20INY5 Y9 9919 19N NNDVY NIIT AN 1933 ¥PI10T ATPIUN 39 390 DIV

And therefore, since X''9 establishes the 2R 1712 of X239 regarding the prohibition
of eating a X»t who was born etc. from a 7170 and was sired by a X»v, he permits
2IR®S for T WD 175 —

In summation; question # 1 is answered, because the X"2 and the w"1 are indeed two separate

21 See »,» (X2) Mnw which reads, 7790 322 DIX 7992 937 iR 77ON KPR 7R3 77ON AR WD 071
22 x,2> M2, Seemingly since we are excluding through the w"m of 7w 7w (from 5"p) a 121 A9V VMW, we should
also exclude whatever is lacking the other qualities which we require for a 5"p, namely 71w 12,00 ,7271, that if the 7w
does not have these qualities, it is not fit for 711 70D 11°79. Nevertheless we do not exclude them because of the "1™
of 71790 779N, the same will apply to 2°X?3 that it cannot be excluded on account of the fw 7w w"r3, because of the 127
of 71750 17750 would include it. Therefore we require the (extra) 2X 1°12.
23 o9 by a 7w means it comes from a sheep and a goat. However both a young sheep and a young goat are called a
nw (as it is written DY W 0°2WD AW or "N DTY 11 W27 11 "N o0 ). Therefore the term 7w does not lend itself
to exclude o°%?2. However it can eliminate a 70w or a n19°, for they are not a [live/living] 7w. The 28 113, on the
other hand, which is derived from the superfluous words of 2°1¥77 121 0°w2577 1 can only be used to exclude D°R2 (see
footnote # 20), but it does not exclude a 7VIIW or a 119°7v; that is reserved for the word 7w in the w".
24 The w"13 does not exclude O°X?3 (see footnote # 23); only the X"2 excludes it.
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mwAT. # 2 is answered; only 2°X?3 can be excluded from the X"2.% # 3 is answered as # 2; 790
cannot be excluded from the R"2. # 4 is answered; 719°7) 7Y are excluded from the w"a. #5 is
answered; as # 2 & 3.

mooIN anticipates a difficulty:
- 192 2905 N> DIYTPY IN NPT 299p

And later when the X773 asks, why do we require the aX 7°12 of 27 (to exclude
o°R2D), “if it is to exclude o°X?> by aw7p, it is explicitly written by them’; we do

not need the 2& 112 -
= 9%9Y 1’7 NN NN N1 29N 1IN NI INT YIWUN

Indicating that if the exclusion of o°k%> was not explicitly written by ow7p, it

would be properly understood that the X"2 of 827 excludes o>w7pa oX?> -
= 7[00 91990 NN N AN 12332 9P¥T ) Y 9N

Even though that the entire X''2 would not have been superfluous by the 71277

nep -
= NP9 DIWTPNT THI0NIN NI 1999 NDIIT DIVN NON

Only because that this exclusion of 0°X?2 is not necessary by nep itself, since we

derive it from 2°w7P; however if it were not written by 2°w7p then the exclusion by nos would
be expounded only for 1105 and not for 2°w7p, so how can we understand the X723 there?!

nvoIN responds:
= NN DIPNN N9 DIP 1IN NYIYY NN 79795

This is the manner of the X223 that it acts as if we know this from elsewhere -
=915 DINDD YVIYNY NV 281D NP NIPINN NIPNT 9NN DIWTPY IN MNP Y9

And this is what the X773 is asking, ‘if the X"2 is for 2°w7p and you will assume
that we can derive the exclusion of 2°8%> by o from another verse, etc. —

2 See footnote # 23.
26 x,ny.
27 mpoin stated previously that the X"2 of X317 (that we can derive the exclusion of 2°%?3 in other cases from the
exclusion of o°X?3 by noo) is based on the premise that the exclusion by 1o is superfluous, for we can derive this
exclusion from the general exclusion by a'w7p. Therefore since it is superfluous we can utilize it as a X"2. From the
quoted X7n3 it seems that the question that we do not need the X"2 for 2°w7p is only because the exclusion is already
written by o'w7p. This implies that if there was no exclusion by a°w7p we could have derived the exclusion by a°w7p
from the X"2 by 8"p. However this is not so, for if there would be no exclusion by 2°w7p, we would require the exclusion
by 8"p for itself only, but it could not be utilized as a &"2. How are we to understand the X77?!
28 The X3 is saying (according to '01n) even if there is another verse which excludes o°%75 (besides o°w7p [and nos)),
so the exclusion of 2’73 by nod would be superfluous and therefore it can function as a X"2 to teach the exclusion by
ow1p, so even if we make this hypothetical assumption, there is still a difficulty because we already know that 0°x?>
is invalid by o°w7p, and we do not need this &"2.
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- 1%ANRY AN SYVITHP 53D (3m 91 mama) IV P92 (owr 3,3 97 PUITP YWD U DT PIY)
And there is something similar to this in the beginning of 1217 n2o»n and in P99
791 regarding the method of deriving that the 127 money of the daughter

belongs to her father -
= 30039 NYWIAN Y2 NN 2I) 9INPT

Where the X771 states, ‘and if you will say we can derive it from 232y n22’ (which
is given to the father). 01N comments on this suggestion; how can the X713 suggest that we derive
T°2R? N2 w1 from ™2 -

= 3PYITpn RONX XN MANT I 0P KXY 1999 D9 NYIAT 2y HY 9N

Even though that regarding 2''72 we only know that it belongs to the father, for

we derive it from PRITP, as the X7n3 states -
(0w 2,m 97 ow) MY IIN P 91D

In the end of n1y1 N pao.

Summary
According to >"w1 the X"2 of X127 is from 2*1y 7w 0°2w> 7w, and according to the >

there is a w"1a based on the word 1w (which excludes 719> 70INW) and a R"2 based
on 2°TV7 11 2°awa; 12 (which excludes o°R92).

Thinking it over

1. Is the 2X 712 of X271 based on the word 7w (as the > originally stated®? and as it
seems from the X7 WY MUWD) or is it from 2717 1M 222w 2 (as the > stated
later®)?

2. Do we generally require a X110 (a superfluous word) in order to expound a 712
ax?

% See there TIE x2°n * 7"7 'onn.
30 nw1a is the shame she endures because she was 770183; while 039 is the depreciation in her value since she is no longer
a n.na.
31 How can the X3 even entertain that we derive 7°a8? N3 w17°p from 513, since we only know that 5"12 belongs to
the father because we derive it from P217p, and since as of now we do not yet have a source that the nai7 *w17p belongs
to the father, so certainly we do not as of yet know that 5"12 belongs to the father, so how can we derive 7217 from
5"12. We must therefore say as '01n suggests that the X713 is saying a hypothetical, if there was another source from
where we know that 5”12 belongs to the father, we could contemplate deriving w17 from 5"12.
32 See footnote # 8.
3 See (text by) footnote # 19.
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